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- A population is a group of organisms of the same species~ /that
can interbreed to produce fertile offspring and
- occupy a given area at a certain time+’

- Crossing overv’ OR

- Random arrangement of chromosomes |~ meiosis«’

- Random fertiisation+"

- Random mating+ Any 3

(Mark first THREE only)

- The squirrels with favourable characteristics+’ caused by the
mutation
- survivev /natural selection occurs
- since they are better suited+” to the environmental conditions.
- These characteristics are passed on to future generations+’
Any3

- Since there are now twov’ species/a new species of squirrels
- the biodiversity has increasedv”

Allow them to interbreed /reproduce/mate
‘They will not produce fettle offspring /check if they produce

fertile offspring
OR

Conduct DNA tests~ of both species
and compare themv’
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Aand B can interbreed and produce fertile offspring, making
them one species+

A does not mate with C, which makes C a different
speciesv/B cannot produce fertile offspring with C, which
makes C a different species

- *Wind blew butterflies to next islandv (U]

- Thus separating them geographically+’

- As the separate islands had different environmental
conditions '/ have different vegetation/different food
for butterflies

- each group underwent natural selection independentlyv’

- and developed differentlyv’

- genotypically and phenotypicallyv’

- Gene flow! reproduction between population A / B and
C did not accur+’

- resulting in a new species+ Any (4)
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Conditions/example on the island probably remained the samev’
s0 they experienced the same selection pressure+’

species A was already suited to those conditionsv’ Any2

The original species was separated+ into threedifferent
populations

by the seav*

which acted as a geographical barrier’

There was no gene flow~” between the populations.

Each population was exposed to different environmental
conditionsv’

Natural selection occurred independently” in each population
and the individuals of each population became differentv” from
each other over time

genotypically~ /phenotypically

Even if the three populations were to mix againv’

they would not be able to reproduce with each

otherv finterbreed 1 *Compulsory mark + Any 5
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- Coatis light brown’ on the upper side
- Dark brown bellyv’
- White stripes on the back and manev’
- Black and white patches on the rest of the bodyv’
The tip of the tail is blackv’
(Mark first TWO only) Ay2 (2

- There is variationv’ amongst the Bongo population
- Some have horns that can be laid on their backsv’
- while others do not have homs that can be laid on their backsv’
- The antelope must move through dense vegetationv’ without
their homs getting entangled in the vegetation
- Those with homs that cannot be laid on their backs become
entangledv/ die
- Those with horns that can be laid on their backs do not become
entangled and escape predatorsv /survive
- Those with horns that can be laid back will reproducev’
- and pass the gene for homs that can be laid on their backs to
the next generationv’
- Over many years the proportion of animals that are able to lay
their homns on their backs, increases+’
Ay5 (5

@




image4.png
16

161

162

163

(a) Hyracotherium’
(b) Sinohippusv
44vmyav (44 - 44,5)

55v/50 /46 million years+'/my
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The common ancestor /original camel population

was separatedv into different populations

“by the seav/due to continental drift

There was no gene flow~” between the populations

Each population was exposed to different environmental
conditions+/selection pressures

Natural selection occurred independently+” in each population
The individuals of each population became different” from each other
over time

genotypically and phenotypicallyv’

Even if the three populations were to mix again+’

they would not be able to interbreed”

Any 5+ compulsory
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